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St. Thomas School, Sahibabad 
Cycle Test-IV (2023-2024) 

Practice worksheet 
Class-II 

Mathematics 
Time:1Hr.                                                                                         Marks obtained _______ M.M:25 

Name: ______________________________ Sec:______ Roll.no. _____ Date: _____________ 

Q1. 

a) 

 

b) 

 

c) 

 

d) 

 

e) 

Tick (√) the correct option. 

A kilometre is denoted by 

a)  cm                                                   b) m                                         c) Km 

8 x 8 = _______ 

a)  64                                                   b) 56                                        c) 40 

The difference of 51 km - 39 km will be equal to 

a) 32 km                                              b) 13km                                   c) 12km 

Which is the suitable unit to measure height of a pole?                                                  

a)  Km                                                  b) m                                         c) cm              

38 km + 46 km = _________ 

a)  84 km                                             b) 75 km                                 c) 74 km 
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Q2. 

a) 

b) 

c) 

d) 

e) 

Fill in the blanks: 

A centimetre is denoted by_______________________. 

______________________ is used to measure shorter lengths. 

Kilometre is denoted by ________. 

1 m = _____________. 

Distance from Chennai to Agra is measured in ________. 

 5 

Q3. Complete the trees given below:  

 Each number is the total of the two numbers below it. 
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Q4. 

a) 

b) 

c) 

d) 

e) 

Which is the appropriate unit to measure these (m, cm, Km)? 

The height of a bus                                  __________ 

The length of a window                          ___________ 

Distance from Agra to New Delhi         ___________ 

The length of a spoon                             ___________      

The height of a pole                                ___________ 

5 

Q5. 

a) 

Solve the following: 

54 planes landed in the morning and 37 planes landed in the evening. How many 

planes landed in a day? 

 T O 

   

   

   

   

 

 

3 

 

b) 

 

Out of 65 pages of her textbook, Sakshi read 27pages. How many pages are left to 

be read? 

 

 T O 
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